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Game On! Instructions
    Taking turns, roll the dice. Move the desired amount of space on the board and complete 

the calculation. If your answer is incorrect, miss a turn. The first person to the end wins!
 

     
Taking turns, roll the dice. Move the desired amount of space on the board. Complete 
the calculation. If your answer is incorrect, miss a turn. If you land on a blank square, 
your partner gives you a calculation. The calculation should be a 3-digit number, add or 
subtract a 2-digit multiple of 10. For example: 464 + 80. The first person to the end wins!
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Taking turns, roll the dice. Move the desired amount of space on the board and complete the 
calculation. If your answer is incorrect, miss a turn. The first person to the end wins!

134 + 20 = 154 873 - 70 = 803 976 - 40 = 936 578 + 10 = 588

175 - 50 = 125 285 + 10 = 295 329 + 60 = 389 584 - 40 = 544

245 + 50 = 295 582 - 50 = 532 598 - 80 = 518 518 + 80 = 598

356 - 10 = 346 867 + 30 = 897 485 - 30 = 455 239 + 30 = 269

474 + 20 = 494 387 - 60 = 327 298 - 50 = 248 498 - 10 = 488

495 - 90 = 405 287 + 10 = 297 405 + 50 = 455 327 + 60 = 387

472 - 40 = 432 420 + 70 = 490 204 + 80 = 284 453 + 40 = 493

203 + 80 = 283 285 - 20 = 265 256 + 40 = 296 224 + 70 = 294

134 + 30 = 164 597 - 30 = 567 290 - 70 = 220 587 - 50 = 537

587 + 10 = 597 258 + 40 = 298 582 - 60 = 522 362 - 40 = 322

574 - 40 = 534 174 + 20 = 194 687 - 40 = 647 592 - 90 = 502

394 - 60 = 334 587 - 40 = 547 217 + 10 = 227 234 - 30 = 204

587 - 10 = 577 187 - 60 = 127 424 + 50 = 474 432 + 50 = 482

487 - 30 = 457 219 + 50 = 269 289 - 30 = 259 144 + 20 = 164

389 + 10 = 399 287 - 10 = 277 587 - 60 = 527 742 - 30 = 712

287 - 60 = 227 597 - 70 = 527 274 + 20 = 294

Game On! Answers
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Taking turns, roll the dice. Move the desired amount of space on the board and complete the 
calculation. If your answer is incorrect, miss a turn. The first person to the end wins!

134 + 70 = 204 873 + 70 = 943 926 - 40 = 886 578 + 10 = 588

175 + 50 = 225 285 + 70 = 355 369 + 60 = 429 584 + 40 = 624

245 + 80 = 325 582 + 50 = 632 598 + 80 = 678 518 + 80 = 598

356 - 70 = 286 867 + 90 = 957 485 + 30 = 515 239 + 90 = 329

474 + 20 = 494 381 + 60 = 441 298 + 50 = 348 498 - 10 = 488

495 + 90 = 585 256 + 60 = 316 405 - 50 = 355 327 - 60 = 267

472 + 40 = 512 470 + 70 = 540 204 - 80 = 124 453 + 70 = 523

203 - 80 = 123 215 - 20 = 195 256 + 80 = 336 224 - 70 = 154

134 + 30 = 164 597 + 30 = 627 290 + 70 = 360 587 + 50 = 637

587 + 10 = 597 272 + 40 = 312 582 + 60 = 642 362 - 40 = 322

574 + 40 = 614 174 + 90 = 264 687 - 90 = 597 592 + 90 = 682

394 + 60 = 454 535 - 40 = 495 291 + 10 = 301 234 - 30 = 204

507 - 10 = 497 147 - 60 = 87 424 - 50 = 374 432 - 50 = 382

487 + 30 = 517 219 - 50 = 169 289 + 30 = 319 144 + 20 = 164

396 + 10 = 406 287 - 90 = 197 587 + 60 = 647 742 - 60 = 682

287 + 60 = 347 597 + 70 = 667 294 + 20 = 314

Game On! Answers
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Game On!

What is the 
total of 70 
and 529?

Gemma has 
438 sweets. 
Her friend 

gives her 70 
sweets. How 
many does 
she have 

altogether?

What is the 
total of 50 
and 245?

Rabia has 
915p. Her 
grandma 

gives her 40p. 
How much 
money does 

she have 
altogether?

There were 
329 children 
on the red 

bus, but there 
were 20 less 
on the yellow 

bus. How 
many children 
were on the 
yellow bus?

What is the 
sum of 509 

and 60?

James saved 
356p one 

week and 90p 
the following 
week. How 
much did 
he save 

altogether?

If 133 people 
were on a bus 
and 50 people 
got off, how 
many people 
were left on 

the bus? What is the 
sum of 10 and 

844?

Raj has 134 
magazines. 

He gives 60 of 
his magazines 
to his friends. 

How many 
magazines 

does he have 
left?

564 children 
attend a 

school. One 
day, 70 

children did 
not attend 

school. How 
many children 
are at school?

Layla has 
112 toys. She 
gives 60 of 

her toys to a 
charity shop. 
How many 

toys does she 
have left?

What 
is the 

sum of 60 
and 294?

What 
is 50 

fewer than 
494? What 

number is 60 
less than 

794?

Start

Finish

What number 
is 60 less 

than 
231?

What is the 
total of 493 

and 70?

What 
is 696 

added to 
30?

There are 535 
marbles in a 
jar. 475 are 
red, and the 
rest are blue. 
How many 

blue marbles 
are in the jar?

Class A have 
234 pieces 
of work to 
display at 
the school 

fayre. Class B 
has 70 fewer 
pieces of work 

to display. 
How many 

pieces of work 
does Class 
B have to 
display?

The market 
stall has 214 
apples. The 
greengrocer 

sells 90 
apples. How 
many apples 

are left on the 
stall?
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Taking turns, roll the dice. Move the desired amount of space on the board. Complete the 
calculation. If your answer is incorrect, miss a turn. If you land on a blank square, your 
partner gives you a calculation. The calculation should be a 3-digit number, add or subtract 
a 2-digit multiple of 10. 

438 - 70 = 368

245 + 50 = 295

494 - 50 = 444

134 - 60 = 74

356p + 90p = 446p

564 - 70 = 494

133 - 50 = 83

214 - 90 = 124

112 - 60 = 52

529 + 70 = 599

915p + 40p = 955p

794 - 60 = 734

294 + 60 = 354

509 + 60 = 569

844 + 10 = 854

329 - 20 = 309

231 - 60 = 171

493 + 70 = 563

696 + 30 = 726

234 - 70 = 164

535 - 475 = 60

Game On! Answers
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